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Which is the result of the actions of€ pgiwligs pgsdgall dao WIS ,> i was Sl b Q.1

the sodium-potassium pump

1
1
1.a
|
Landl 4080 Jal A0l Lnd gy
|
|
negative charge inside a neuron |
|
'
-------------------------------------------------------------------------- ol
.b
dpaall AdA]) JAla sl dga g e
no charge inside the neuron
.C
:\:L_L\Aﬂ\ :\:ﬁ;“ GJ\AMJ};}(;&
no charge outside the neuron
d

Aaseanll A1 JA1 dun ge Aind 24a

positive charge inside a neuron



If a person cannot Sasuc oo ,yaioll £33l lad (o Ug) &8, LolzwVl asl gl pJ 13] :Q.2

see certain colors, what part of the eye might be damaged




It transmits signals between the brain and. sSgidl Ji=lg ¢ loadl o wl,LoVl Jsu :Q.3

spinal cord

& .a

Cerebrum

Faadl b

Cerebellum

What nervous system is controlled $slpoll i dshio ade Jhhows Sl swaell ;L= b :Q.4
by the hypothalamus

eI)Y .a
voluntary

=l b

Somatic

Skl e
peripheral

S rd
autonomic,



osde Jggodl S il Lo auelll wigs Ol am ,lgalb pazeid! Mol duse ol Lo wwas 1Q.5
Some rides at amusement parks cause a person toS eow )| (sd «lgall Heeidl e wlell
become dizzy when the ride stops. Which structure in the diagram is most likely involved with the dizzy

?feeling




Which is characteristic § sil il  swasll jle=l (o Sylioud| &)l Lailas o a2 Sl b :1Q.6

of the sympathetic division of the autonomic system

NEVA

stimulates digestion

20l el ol ey 1Ly
dilates the bronchii

slows the heart rate

OSSO ) HSolall Jss o d

converts glucose to glycogen



With which sense are free nerve endings$é =l auas=ll wlLlpdl g, by sl aswl=dl b Q.7

associated

Gsxll a
taste

el E.b

touch;

el c

hearing

byl d
sight

€S,31 dunac adzd & il 3lgylly dunac adz) swasll jgzoll G d9=all Jiow Sl Q.8

Which is the gap between the axon of one neuron and the dendrite of a second neuron

euanll panll g

nerve impulse

sai=ll b
node

reflex arc

ol el 1 d

synapse;
|



Which eye structure provides $zwl) Ulg/VU aalzioll logleodl pais Sl (a2l wuS i b :Q.9

information about colors to the brain

Ak s paall LS 1 g

cones;

Gl A0S b
retina

sl ¢
lens

Lgpandl A g
rods

The minimum stimulus. J=a)l ap> &eas> (0 i sl yigodl 830 doaud (susl :Q.10

required to cause an action potential to be produced is

J=dl s 3
Action potentia

4udil y3ie b
Ranvier Nodes

el
the Axis

apll A 1 d
threshold stimulus;






